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Note :This paper contains ONE HUNDRED (100) ‘multiple-choice/assertion/

reasoning questions/matching questions. Each question carries TWO (2)

_-Cm

marks. Attempt All the Qﬁestions..

. a2l (100) oigRsella wadl, wuig 2\ ASsL oirttadiil Wl B,
QUM WAL UG @l §. s w8 () A= 8.

Consider the following four legal

doctrines and idenfify them in the
correct order in terms of time of their
appearance :

(i) Volksegeist

(ii.) Imperative theory of Lav?r
(i) Social Enginé_e’ring |

(iv) Sociai Solidarity

(&) Gi), @), Giv) and (iiii

®) @), (), (i) and (@)

© @, Gi), Gii) and (o)

| M) Gii), Gv), () and @)

Law-I1

1.

Q3 20 A Rgida su-i el

3w Aud amadl swd wRdcadt

LUl A suni ollsdl :
@) ci‘wa@aa

) 3@5_&& gl
Gii) w5 assl

Giv) WAHLPES Ascll |

A) Gi), @), (o) ¥ Gid)

B) G, G, (i) YA (@)
©) (), (D), (idi) AN\ (@)

D) (i), (v), @) ¥ @)

[P.T.0.] |



2

Match List I with List IT and give
the correct answer :

List-I (Assumption)
() Jural postulates

* (@) Spirit of the people

(izt) Grund norm

(iv) Reason and will in Law .

List-II (Jurist)

(@) Aquinas

() Pound

(¢) Kelsen

(@) Savigny

Codes : :

A) (D—b), (ii)—(d), (Zii)—(c),
Gv)—a)

B) O—(d), (i)—b), (iii)—(c),
(iv)—a)

©) )—b), Gi)—(a), (Zii)—(a),
(fv)}—e)

D) —(d), (i5)—(@b), (iii)—(a),
(tv)—e)

‘Consider the following statements

and answer accordingly :

| (©) Legislation has both creative

and abrogative powers.

(t) The object of legislation is to
apply law.

(i) Custom is generally based on
the will of the people

(A) (i) and (i) are correct

" (B) () and (i) are correct

(©) @), (i) and (iii) are correct
(D) (i) and (i) are correct

-Law-I1

WEl T A el I A AS) 240 iz
gAY, AL :
QELT ey

O @424 Ydld Rsid (postulate)

@) dis Moy

(ii5) A~SI

(v) SLUEtHD 5128w S

Yel-0 (dora)

(@ Asusy -

(b) \i-s

© 3au

(d) A9

$is .

Q) @)—®), Gi)—(d), Gii)—(c),

@) o

(B) (i)—(d), E)—(b), (iii)—(c),
(v —a)

O O)—b), (D—), (iii)—(a),

(iv)—c)
D) ()—(d), Gi)—b), (iii)—(a),
‘ (v} —c) .
DA Qaieil i 2v] o
TRITIE S
@SB A% 2N 28 sl 6y
Al & }
@) sel-l 8¢ A @y suqarg
@) Aruy Ad 3R-Rar A\ qig]
291 4 wad B

(A) @) A G) o WAL B

(B) @) 2 (i) WA &
(C) &), Gi) A Gi) WAL B
M) @) A GiD) w8




“Corporate personalty is a mere
procedural form which is used to
work out a convenient way for
immediate purpose.” It was stated
by : '

(A) Holland

(B) Austin

(C) Starke

(D) Hohfield |

. Consider the following statements

and find the correct answer by using
below codes s

(@) Law developed in its prumtlve
stages uniformly in all societies.

(i) Development of all societies was |

uniform.
Codes : |
(A) Both (i) and (i) are true
(B) Both (i) and (ii) are false
(C) @) is false and (it} is true
D) (@) is true and (ii) is false
In A.K. Gopalan Vs. State of

Madras, the Supreme Court held -

that the expression ‘Procedure
* established by law” in Article 21 of
the Constitution means any
procedure prescribed by law
irrespective of its reasonableness or
otherwise. This decision belongs to
‘the school of :

(A) Sociological approach
(B) Positivist approach
(C.) Naturalist approach
(D) Historical approach

Law-I1I

cRuiid Aldat B 5 WEUA
&, ¥+l Gualia R desifan ég, He
aatqsmﬂf Rl Wl sleadl 8.7
a0 QA ....... sg 7 '

(A) €lass

(B) ¥l

© @b

(D) Slegles

Qd Qe e dl o

@  Sel-l s Qi wals doss
€5 amwm mnu Sdl.

G els wm-u s A5 A/l

é,dl.:
$iS o
(A) () L @) ol AL B

C(®B) ) A G) o v 8

© @ Mg B ¥ Gi) W D
D) @) W3 B WA @) WE B
2.3, oliwdd Q. Re 2§ AsL

Jumi Yl S2 s wd 3 ‘swmel

g1 Refd WBUL L Y0
21 Yol SUEL Gl RAUAC S5uR
gl Al vl a B ol cnyellugt
el weud R daudy el i

Relu 02 A4 58 Raarud Aact

9 ,

A) Ay wem
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@) lesifs 2™
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Savigny’s view of law was first
. presented in the famous Pamphlet
~ “Of the vocation of our age for
legislation and jurisprudence”. This
Pamphlet was :

(A) A reaction agamsf the
Analytical theory of John
Austin

(B) Areaction againsf Natural Law
' theory

(C) A reaction to the proposals

- made by Prof. AF.J. Thibaut
for the codification of the laws
and customs of the German
states on the basis of Roman

Law and Nepoleenic code

D) A

suggestion for the

codification of the laws and

customs of German states on
the basis of Roman Law as
Roman Law had become the
German Volksgeist

- Assertion (A) : The most important
power of an owner is the right to
exclude others.

Reason (R) : The owner may grant
to another many of his rights and
yet remain the owner.

(A) Both (A) and (R) are true and
(R) is the correct explanatlon
of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A) -

(C) (A) 1s true and (R) is false
(D) (A) is false and (R) is true

Law—II

7.
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10.

Match List-I with List-Il and
indicate the correct answer using
the codes given below :
List 1.
(@) Perfect right
(b) Negative right
(¢) Imperfect right
(d) Positive right
_ - List 1T
(i) Which has correlative positive
duty

(ii) Which has a correlatlve duty
that can be legally enforced

@ii) It has a rlght -to receive
damages

(iv) That right which although
recognised by state but not
enforceable .

Codes : - : o
@ ® @ @
A) G @ O @
B) G) G @ O
©) G G @ O
O @ G) G )

Possession is prima facie evidence

of title of ownership. Hence :

(A) Long adverse possession
confers title to a property which
originally belonged to another
In all cases possession leads to
ownership

B)

(C) Transfer of possession is not a
mode of transferring ownership

D)

Long possession do not confer

title to the property which
originally belonged to'the .

government

Law-II
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11. While dealing with freedom of

speech and expression, as provided
under Article 19(1)(a) of the
Constltutaon the Supreme Court in

which case made the observation

that “It should always be
remembered that if intellectual
powers and natural or cultivated
power of creation is interfered
without the permissible facets of law,
the concept of creativity paves the
- path of extinction and when
creativity dies, values of civilisation
corrode” ?

(A) Prakash Jha Productions Vs.
Union of India.
_'(B) Nachiketa Walhekar Vs.

Central Board of Film
Certification

(C) Viacom 18 Media Pvt. Ltd. Vs.
Union of India.

D) Manoharlal Sharma Vs. Sanjay
Leela Bhansali

. In which case, the Supreme Court

“struck down section 66A of
Information Technology Act on the
ground that it violates the
provisions of article 19(1)a) and
described it as “Vague in its
entirety” and encroaches upon The
Public’s right to know’.

(A) Subramanian Swamy Vs.
Union of India

(B) Shreya Singhal Vs. Union of
- India _

(C) Peoples Union for Civil

. Liberties Vs. Union of India

(D) S. Khusboo Vs. Kanniammal

Law-II

11.

12.
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13. Match t.he List I with List 1I and -

give the correct answer :
’ List I

(@) Right to sleep a fundamental
right |

(b) To live with dignity includes
right to die with dignity

(c). Women’s - right to make |

reproductive choice

(d) Right to adoption not a

- fundamental right _
List 11 .
() Common Cause | (A Regd.
Society) Vs. Union of India.

(i) Suchita  Srivastav  Vs.
Chandigarh Administration

(Gii) Re : Ramlila Maidan case

(iv) Shabnam Hashmi Vs. Union of
India.

Codes :

Q) (@—Gd), (B)—ii), ©—@),

(dHiv)
B) (@)—(iii), (B)—@), (e)—(ii),
(d)—'(iv)

© (@)—(iv), (b)—(d), (e)—(),

(d)—ir)

D) (@)—G), B)—i), (e)—(Gii),

(d)—w)

La_w-—II

3 dire T A dle I A ﬁsn i WAL

CETCRETIARE
| dle 1
@ [l v A yackd RN

() ™Al Al waai blﬁl_&_l?.‘tl
ol W Yoyt s
Wl 9

© i BRAR »idirl wigdll
sl AN

@ tus Rarl 2R A Yool
sz -l

dle 11

O A S (e wkes Wawd)

@, yFud vis SHsu

G) dRdL slarda [, AR
Asl-lga

i) A : andlan Rei W
() o srell R, gl g
- Sl
S :
Q) (a)—(id), (B)—Gid), (©—@),
(d)y—(v)

®) (@—Gii), BI—Q), @—0id),
@—G@) |

©) (@)—(Gv), B)—id), (—0), |
(d)—-(m)

D (a)—), (b)——(u), (c)——(m),
(d)-{w)
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14.

15.

(A)

B)

In which of the following cases the
Supreme Court wupheld the
constitutional validity of section

139AA of Income Tax Act, 1961

‘which made mandatory linkage of

Income Tax returns with Aadhar by
saying that “this section 139AA is
not violative of Article 14 of the

"constitution because it fulfils the

twin test of Article 14 i.e. the

‘reasonable classification and nexus

to be achieved by the classification.”
Binoy Viswam Vs. Union of
India _
Swaraj Abhiyan Vs. Union of
India -

Union of India Vs.
Jaiswal '

(15) Lily Thomas Vs. Union of India

Assertion (A) : The _principle of
equality before

C) Kamini

law means’

that there should be equality

of treatment under equal

circumstances.

Reason (R) : All persons are not |

equal by nature, attainment or
circumstances.

(A) (A) is true but (R) is false

 (B) (A) is false but (R) is true

(C) Both (A) and (R) are true and

- (R) is the correct explanation
" of (A)

(D) Both'(A) and (R) are true but

(R) is  not the
explanation of (A)

correct

Law-II

10

14.

15.
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16. Match List I with the List II and
indicate the correct answer using
the codes given below :

List-I
(@ Right to speak includes right
not to speak.

(b) Government has no monopoly
on electronic media.

(c) Cor_nmerc_ial advertisement is
part of Speech and Expression.

(d) Government cannot impose

_prior restraint on publication of

defamatory material agamst its
officials.

List-II

@ R. Rajgopal Vs. State of Tamil
Nadu

(i) Tata Press Ltd. Vs.
Mahanagar Telephone Nigam
Ltd. : : '

(iii) Secretary, Ministry I and B, Vs.
Cricket Association of Bengal

(iv) Bijjoe Emmanuel Vs. State of
Kerala

Codes
@ ® ©© O
A) Gv) G @ @
B) GiE) G @ @)
© @ G G @)
O G) @& G @)
Law-II | 1

16. olzz I A dl2 I1 A Asl »n LSl

Guaiol $30 AR Feust dUL
| kel

@ olaci-l AR5 A ALl
AR qHddl 8

&) usA SaAsgi-ls wﬂslzu k)
Sonl -l

© daudle Ao A Al 'voi-‘-t
MUl ool 8

@ w2 ad wRsysiad
R3e ceral el usld ad
ydal Agu 4él W Al

lre-11

G) . wwtwa @, w2 M E
dlRalg

Gi) 212l Au RbRs Q. HedR
s o dlBes

i) Ae], M-l 1 AA-s oll, [@.
Bz AU 2is due

(iv) oAy S¥ya [, R2 Vs S

!?I.S :
@ ®) © @
A) Gv) G @ 0

B) @) @G @ G

© @ G G 6@
O G) @ G) G
[P.T.0.]



17.

18

Law-II

@

@)

Which of the following statements
are true with regard to the
fundamental right of the minorities
in educational matters ?

The minority has only the nght
to administer educational
institutions. _

The minority has the right to
establish and administer
educational institutions.

(i)

(iii) The right is absolute and not -

subject to any restriction.

(iv) Reasonable restriction may be
imposed to promote efficiency
and prevent maladministration.

Codes

(A) (@) and (iii) only

 (B) (i) and (iii) only

(C) () and (i) only
(D) (i) and (iv) only
Which of the following combinations

- are correctly matched ?

() Territorial nexus—Object
should have territorial
connection with the state.
Pith and substance—The
validity of legislation is
determined by the degree of
invasions into the field.

7 (m) Colourable legislation—You

cannot do indirectly, what you
cannot do directly

() Repugnancy—Conflicting
results are not produced where
* both the laws are applied to the
same facts.

Codes :

(A) (@), (%) and (iv) only

(B) (), (iii) and Gv) only .

(C) ), (&) and (iv) only

D) @), (&) and (i) only

12

17

18.
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(A) $&i () A (i)

(B) &5 (i) A (i)

(C) &5d () 2N (i) -

D) $5d i) A ()

D21 A4 s Rsol wa B |
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R0 il 0 Risi dlal RS
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wYl osyedl sl

(ts52) 154l wiu B, |
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Ad 4 530 w8, ¥ ad ncuy 53]

Asdl <l. |

[axaa (repugnancy) ®YL

o) SI4ELlL s o wlEsdn @y

S R Riaendl wRey

HoldL ).

8is -

(A) §8d (), (D) 2R (o)

(B) $5d @), (i) ¥ Gv)

(C) $&d (), i) A (v)

@) $5c (), Gi) A (i)

(ir)

(iid)

@)



19. Answer the following using the

codes given below :
Administrative law deals with :

@

Composition, powers and

19.

functions of the administrative - -

authorities. -

(i)

Procedures to be followed by the

administrative authorities in

the exercise of their powers and

* functions.

(iii) Methods of controls of power of

the administrative authorities.

(iv) Remedies available to a person
. in case of violation of his
right by the administrative

authorities.
Codes :
(A) only ‘(i) is correct

(B) only (i) and (i) are correct

(©) only (i), Gi) and (iii) are correct

D) @), (i), (i) and (iv) are correct

Law-1I

13

8.

@

(i)

qdlad aileld own, Anizil

A sl

adladl anual axel Al v

sl w2 sl el (s

waudl).

(i)

(v)

(A)

(B)

(©).

D)

adlad wdRadl Azl G

sige vl uslil.

adlad il gzl Ald-
essell Gedtn ouod Al wu

dt Guiul.

515 :

55 () WA B

s5d () @ Gi) WAL B
g5 (), (i) @A GiD) WA B
@), D), (i) 2 (@) éum 8

[P.T.O.]



20. Match the List I with List IT and

indicate the correct answer using
the codes given below :
List I
There is no rigid formula for
principles of natural justice
(#) Choice of application of rules of
“natural Justice

)

(#id) Justice should not ohly be done,

- but manifestly and undoubtedly
be seen to be done
(iv) Meaning of bias

Codes_ :

List II
(@) R.S. Dass Vs. Union of India
(d) R. Sussex justices
(¢) Union of India Vs. PK. Roy
(d) Secy to Govt. Transport Deptt
* Vs. Munuswamy

Codes : _ _
@ @ @G G
A 6 @ @ ©
B) © @ @ ®)
0 @ © B @
D) © @ B @

21.

Law—II

According to whom “International
law is the body of legal rules which
applies between sovereign states
and such other entities as have
been granted .international
personalities :

(A) Holland

(B) Oppenheim
(C) Starke
19)] Schwazenberger

20.

21.

14

dle T A e IT 0l ASt 27 2

NG SIS GuAlol 30 Wl T
MY ¢
dle 1 ,
@ gedl wanu Rigiarl 68 s
gy wo],
@) gedl A @y ‘{lSCll Wigl
He Q. ‘ '

L) §5d d qadl ASA A Yy

o, g AL e A Ay
Ald AS wsy Al eteu RS
Gv) ydae-l e,
s ;o
dle 11

@ WA, s [, ?;I,[:l’-l"l iy

SEsy
(B) 2R, YASA w{u
© 4R s SFsw @, .3, Ay

@ W32 g adeAee gyl

csludde [, yqaaul

5S :
@ @ G )
A) & @@ (@) (c)
B) © (o @ )
© @ (o 6) (d)
D © A &b @

A1 ALl 99 56 3 “vlinrandly
Sl N stuel- RyaiH AYe ¥,
% Aoy Ul A oflo wyd)
AniA @y ud sb ¥ wid gy
Aldded Had &

(A) dld-s

(B) »il1ey

(C) b

D) Wlsorfr



22.

23,

“Oplmo juris is essential to the

_creation of a new customary rule of

international law.” In which of the
followmg cases this was reflected 7

22.
C ay 3 “alarangl sl Al

(A) North Sea Continental Shelf

(B) The Asylum case |
(C) The Right of Passage case
(D) S.S. Lotus case '

What is the legal effect of
recognitien ?

) Recognised State is entitled to
the succession and possession of
property situated in the
territory of the recognised
state.

()

Recognised state becomes

23.

entitled to sue in the courts of .

the recognising state.

" (iii) Recognition of a state does not

mean recognition of a

government.

(iv) Recognised state is entitled to
sovereign immunity for itself as
well .as its property in the
courts of recognising state.

Codes : _ '

(A) (i) and (i) only

B) @), @) and (iii) only

(C) (i), (i) and () only

(D) @), G and (iv) only

Law-II

15

42 40 su 3l Ag ARURA

3dlowd Rl ol Wwe w&g Hdy
%3l 8.7

(A) «id A _.!;Lrél-?t_-aei Acs 3
(B) £ AwHn U
© €@t use a»ﬁ.‘; A A

(D) MANA. didAn 3

el (recogmtmn) L SIUBU VAR
g8?

@ Mra Ul c-[m Wy UBUIAL
L yidui Biasdn se v qmmS

sfas 9.

Wy %A 3 AL Aadd
J1opu-ll S1eTHE eldl sl 8556\
8. '

Jiopaell Wil 2 Al sl
3 wstal Mt

@)

@iz)

(v) WL S, WUl nd s34

2erasll Sl Wil delda
A Basd 4R 4Bd Haa
S55EIR 8.

£S :
A)
®)
©)
o)

§5d () 2 @)
ss (), (i) v Gid) -
5 (D), (i) @ (v)
s5d (D), GiD) 2 (@v)
| (P.T.0.}



- 24. Extradition means :

25.

@ A political act done

in
pursuance of a treaty or an
arrangement adhoc.

@) Itcan be sought either in terms IV |

- of treaty or no reciprocal
arrangement.

(i) To surrender of one state to
another of a person desired to
be dealt with crimes of which
he has been accused or
convicted and which are
Justifiable in the courts of other
countries.

(iv) Extradition does not depend on
the provisions of the existing
extradition treaties.

Codes :
(A) (@) only
(B) @) only

~ (0) Gi) and Gii) only

D) (), (i) and (iii) only
Nationality may be defined “...... as

the legal status of membership of
the collectively of individuals whose

- acts, decisions and policy are

vouchsafed through the legal
concept of the state representing
those individuals.” Who gave the
above definition ?

(A) Oppenheim

(B)- Charleév G. Fenwick

" (C) J.G. Starke

D) Edward Collins |

Law—-II

16

24, ucqn[-el Qa&

25.

@ AR vy sma{cu(s dAlsaR YAy
UASH 51 524,

@) aq AR 3wudi mua Yy
dhsasl 3uMi Ag.

@) s AAA g1 ol ey
Al Aluell Fru w3 siwa
é_;,—et;i dslid 8 HaudL ¥ oA
8 A ¥ ofly 2l Aeladui
ol sy,

Gv) newd A wadsin As2ilsun
ARA g2 Gy 2z vig
el

&S

(A) 854 ()

(B) 85 (i)

(©) &&d (@) A i)

D) 85 (@), Gi) A (iz)

WA AR 53 usiy ‘CL
ARl Ayeefl U W12+
stgell Rafq, Faiqn sl Mol v
A % 2wl 519+ vana g1 80y,
B 2 B AAY B AB il URs

8.7 Ly fY w] ?

(A) iy

B) wdy . 3qdls
©) %.%. W1E

D) Asas sieflvy



26.

27.

(C)

Which of the following are the

objects of the United Nations as set

forth in its Preamble ?

@ To reaffirm faith in

fundamental human rights and

in the dignity and worth of the

human person.

The member states shall fulfil

in good faith their obligations

under the United Nations

Charter.

(iii) To establish conditions under

which justice and respect for

- ‘international law and

(@)

26.

international obligations can be .

maintained.
(v) To save the succeeding
generations from the scourge of
war
Codes :
(A) (i) and (i) only
(B) (), (i) and (iii) only
(C) (), (iii) and (iv) only
(D) (i) and (iii) only
In all contentious cases, the
International Court of Justice can
exercise its jurisdiction :
(A) Only with the approval of the
General ‘Assembly
Only with the approval of the
General Assembly supported by
" Security Council
Only with the consent of the
‘state parties to the dispute
through a special agreement
Without the consent of the
state parties to the dispute

(B)

D)

Law-I1

27.

17

D3 A9 sy yuses Au-rll &g
8, ¥ adl sunuui wulare 8 ?
@ s Rlkyds wer 59 5
wartl 3aeid RS 2
Aol ds ollraysd. ad-
(dignity) ¥ Adly yeund
s,
YAlf2s AL AR vicold
qoy opdial duddl gaeel
geotadl orgadl—fenadl.
i) Al WRRAR Rufa s34 3
iy, i id AL Ud 2A
ey A dld0FA
ogepegl vl Fena as ud.

spasiz WiA yertt siasidl
CICLER

58 :

(A) 5L () A @)

(B) &5 (), i) ¥ Gid)
(©) 554 @), Gi)) 2 o)

(D) &5 (D) A (id)

35 asaUdl 3Aml i sie
s A Wl ssdd vl w3
@ . o .

@)

(iv)

@A) 5 Fra Al
' yarll _
(B) $5d  %¥-Rd 21 A 2ol {l

yawllel 31 Alsyléd s1G=fla
W 29 el | o
(©) %5 vt ANl QL F s
e diu dar ul-l kel
@) asdl wia wsdldl Wil
QIR .
[P.T.0.]



28.

29.

The World Trade Organisation
(WTO) which was the calmination
of'Uruguay Round of GATT
negotiations, came into effect

from ;

(A) April 15, 1994

" (B) January 1, 1995

(C) May 19, 1998
(D) November 30, 1999

Assertion (A) : According to John
Austin, International Law is true
law and not negative international
morality.

Reason (R) : Three elements .in

- Austin’s definition of law, namely

command of the sovereign, duty of
inferiors and sanction in case
inferior who commit breach of the
| ‘absent in

command are

internstional lav_v.-

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A) '

(B) Both (A) and (R) are true but
- (R) is the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

()
D)

Law-II

28.

29.

18

ae$ 26 AUSRu4A 32 (GATT)
aletatei~632d Yol G-sHl

AR @I WL o, B
... 9y,

(A) AMla 15, 1994
(B) Y>3l 1, 1995
©) %19, 1998
D) =312 30, 1999

sy sa- (A) Feird 2L Ul

Bl iR ALY SIUEL N AL S14EL

8 217 Q L5105 Wi ANY AR 5L

el |

SR R) 2 2084 s1gir) apvage
A% dedl, Fal ¥ ideln gsu, -l

drtl {4 2uadl Al s,

Aol gsu-il oidoiea 3, vyt 249,

ctecivll it Y staen A2wie?],

slis :

(A) ot (A) i1 (R) A & 1A (R)
A (A) A wdl wnydl B

B) 4l (A) YA (B) W B, uig |
®) 2 (A) Al wall wnogell «el)

(C) (A) ¥ 8 uig (B) “i§
D) (A) “ig & wig ®) Wy 8



30.

31.

In which year, the four Geneva

Conventions . relating  to

humanitarian law were adopted ?
(A) 1945

(B) 1948

(C) 1949

D) 1950

When a criminal act is done by

several persons in furtherance of

common ihteni_;ion of all as provided

in section 34 IPC, in such case :

(@) Each of such person is liable for
that act in the same manner as

if it were done by him alone.

(ii) Each of such person is liable
~ according to his guilt.

the part of the offence
committed by him.

(iv) No offence can be proved in the
absence of a common object.

Codes. :

(A) . () and (i’i) are correct

(B) Only (i) is correct

) @), Gi) and (iii) are correct
(D) Only (v) is correct

Law—II

30.

‘31,

(ii) Bach of such person is liable for -

19

sut av{ai, udadiatel swel
(humanitarian law) A adng AR
ol s-Au-U @l usul !

(A) 1945

(B) 1948

(C) 1949

(D) 1950

oyl 516 YeUlBcl fU BRAL A&l
Azl wyks Sl Shsud
Ya sl samu 34 Yol s ey
dl wuar Bl :

@ wudl s ABd A FAU MR
gAolEl B FH ¥ vug §H U
albaotd s SaAsa s elu.

@) ARl el unuel gds aldd
AAUAELR 6.

Gii) Al yrsinl Wttt (R0 Hre
215 Ald FUselR 8. -

(v) WS Saterdl el an
el WHa 4 ud .

£S :

A) G) WX G) W
B) 454 @ Wi B

©) @), Gi) YA Gid) WA B
(D) &5d (iv) WA d

[P.T.0.]



32. Match the List I with the List II  32.

33.

(0)

and indicate the correct answer
using the codes given below :

- List 1
Doli Incapax
Mens rea
Mala inse
Actus reus

List 11

(i) Bad in itself
(if) Forbidden act

(a)
®)
(©
(d)

(i) Guilty mind

(iv) Incapable of committing crime
Codes : -
e (@

@ )
A @ @ G @)
B ) GG & 6
©C) ) G GG O
D & @ G G

Which of the following is not correct

in case of intoxication ?

(A) Intoxication is a defence when
the intoxicated person is
incapable of knowing what he
was doing was either wrong or
contrary to law

(B)

knowledge is attributed to the

accused who has acted under
involuntary intoxieation

Defence of intoxication is

available both in case of

involuntary and voluntary
intoxication

Intoxication is a defence when

the intoxicated person is

incapable of knowing the
nature of the act at the time
of doing it

)

Law-II

Particular intention and not -

20

33.

dle 14 dlee I A A w3
len sisHl Guuloy 530 WAl wao
NG . '
dle 1
(@) sidl S3Usy
(b) A~ Fui
(€) el S
d) wsed 380
dhRe nn
@ udeil ga Mg
@) e s
(i) Yrldd A

@) Ynel sl WR 2N

51S

@ @) © (@
A @ @ 6O G
B Gv) Gy @) G
€C) vy Gy @& @
M & @ Gv G

A1 U4l 84 GMddl (intoxication)

il 0y -] 2

(A) G-iddl (Intoxication) I s2ud

® AU Graid Ald ¥ g 53

O qd siduig 8 wyal sueel

Q3¢ & Ag R S nay
- 81N, :

S AlssY dgA Yrel W By
Ay 8, Al 3 ¥ Al Yia-)
R AR Beid ol s 51
2l Aas,

Watdl 4@l 2uqL waw
AA/AL Grdddidl  FRumi

Grddledl st 4 usiy 9.
Grtddt L ol B w3 Al3q
Gridl Sl 2R SIS 54 52 Q wwd)
A sU sS4 USIRY B A e
UUY ~ iy, -

B)

(C)

@)



34. There is a fire in a particular

locality. ‘A’ who sees this fire, pulls
down houses of others, in order to
prevent' the conflagration from
spreading and with the pﬁrpose c;f
s’a;ring human life and property. In
this case : |
(A) A will be guilty of fhe offence
of mischief as he pulls down

houses of others
(B) A will not be criminally Liable
as he wanted to bring benefit

to others

(C) A will not be liable for any

offence as he has done it for
preventing other
dangerous harm to persons and

their properfies

D) A will be guilty as he
intentionally caused damage to

the property of others

Law-11

more

21

34 515 NS aUsdHl 2oL Al B, A

Al Al 0oL %A 8, 2 [arius
wowdl Faldl viesiadl e el
A [?{Gt“scl'}t‘ dsAlL A ARl
spaefl ool Hsit wsl & 8. i

PR

(A) A A Gugarl sl HE el 8

529 QgL ollotriL usiL WSAL B

(B) A JURa s W2 €l el 33

3 Q o{lotnl @led iUl HdLdL gl

©) A £ ret W2 ganeR Al
5122 3 Ad U g ollann erls?
WAARSs s 2 Fdsdar

sl eudaid ed

D) A SRid Aeud s2@ 3 A}
geu ol Masad 15Ul
yalausatl Sueiyds 54 8.

[P.T.0.]



35

36.

Which of the following statement(s)
correctly define murder ? .

(@) Death caused by an act done

with the intention of causing
bodlly injury and the bodily
mJury intended to be inflicted
s sufficient in the ordinary
course of nature to cause death
(#) Causing death by an act done
‘with intention of causing bodily
injury as is likely to cause

death. |

(i) Causing death by an act done
with the knowledge that it is
likely to cause death.

() Death caused by an act which

was done under grave and
sudden provocatlon

Codes :
(A) (i) and (iv) only

(B) (i) and (i) only

(C) () only

(D) @), () and (iii) only
Enticing or taking away or
detaining with a criminal intent a
married woman is dealt under :
(A) Section 498 IPC

(B) Section 498A IPC

(C) Section 499 IPC

(D) Section 500 IPC

Law-II.. -
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13 44 54 @Eurl ‘:;'H A1 z'l&
Al 53 B

B Yy qqd s :Ag R 8 %
wARs  aidfl  welaisaiy
Setl 4y 8, A WARs el
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@) 818 gouell Hoy ay Giu, & s
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5129wy gly.
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5 .

(A) 850 6) ¥ Go)
B) $5d GD) 2 ()

(C) 851 @)

@) &5 @), @) 2 Gii)

wEdl wild ruld g1eidl
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37.

. 38.

Match the List I with List IT and
indicate the correct answer using
the codes given below :

List I
(@) Mens rea
(b) Abatement - '
(¢) Planning to commit a theft

(d) An unlawful act without’

criminal intention
: List II
(i) Always not necessary
(i) No offence in itself
(i) Strict criminal lability
(iv) Instigating a person to commit

an offence
Codes : :
@ ® © @
A @ @ @) @
®) @) @ G @
C @ G . @ G
o @ @ O G

It was observed by the apex court

that “in clause (3) of section 300

instead of the words ‘likely to cause

death’ recurring = in  the
corresponding clause (b) of section
299, the words ‘sufficient in the
ordinary course of nature’ have been
used obviously, the distinction 1is
fine but real and if overlooked, may
result is miscarriage of justice.”

In which of the following cases the

“above observation was made ?
“(A) R. Vs. Govinda

(B) Deo Narayan Vs. State of U.P.
(C) State of AP. Vs. R. Pannaya
(D) Ujagar Singh Vs. Emperor

Law-I1

37.

38.

dize T diz2 I 0 RS #1343

el Sierll Gualol 530 WAL g

LML ¢
dlze 1
(@ Amsidd A

®) retnl desdul

© A sarfl dy-i

@ AreiRd SULL R AHUBA
Fi |
- odie I

@ ddui %3 Al

G) A WMl el el

i) Avd el yusel

(v) Al el s w2 Gl

. yzasll sl :
51S

@ @ ) (@@
A @ G @ @
B) G @ @ @
© @ Gv G @)
O G G O @)

il 518 -liey ed 3 ““selo (3) saU
300 i quda el ‘AMAd: Yy
531 U3’ (likely to cause death) -l
ooy, 5aH e, 5A (b) AU
qoel ‘amiry geadl s3Hl Yl
Guulosil daiul siu dl Assuu,
aslad A O UTd A A wa vl

o Aaiy A Aeun s dl @ sl
 syanasul Rl w37

B 52 02 A4 s el v
ey ? |

@) ur.[Q. [

@) Qdl e R, ®2 s 3.4
©) 2 »is A R R Y

D) Gz Ria [@. AR

[P.T.O.]




39.

40.

Law-IT

(@)

(C)

Which of the following is the _

essential ingredient of section 403
of IPC ?

@)
another for his own use.
Dishonest misappropriation or

Misappropriation of property of ‘

conversion to one’s own use

another’s movable property.

(i) Dishonest misappropriation or
conversion to one’s own use
another’s movable or
immovable property.

(iv) Dishonest conversion to one’s
~own use another’s immovable
property.

Codes :

(A) () only

(B) (i) only

 (C) (i) and Gv) only
- (D) (i) only

Which of the following shall not be
an unlawful assembly within the
meaning of section 141 of IPC ?
(A) An assembly of five or more
persons to vindicate a supposed
right of one or all, by show of
force

An assembly of five or more
persons with the common object
of only maintaining possession

(B)

persons with common object of
taking possession of property
(D) An assembly of five or more
persons to prevent arrest of a
person, by the orders of the court

An assembly of five or more-

24

39.

40.
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.‘?I.S :”

(A) $5d ()

(B) s&d Gi)
(C) &5d (i) A (iv)
D) $5d (i)
oudly €6 AR san 141 Yoy -
A U6l sy 59293 sl
ol 7 - -
(A) WA dual a4y ylqa-]
Hsll, F 25 waqy eiEgqy egstg
ol GualaL 53 e 53¢ din
WA Al 9y AR
asull, B+l RS 3d $5d s
AL mai-l gy

WA AYdL g YR -]
Heull, % :eug[és &g Pasdril
569 Aol Sy

SéAL WS Yoo ycdl 3
QRUSS vi2sidal Wiy wddl ay
U wii-l sef]

(&)

D)




41,

42,

43.

Which one of the following correctly
identifies the remedies available
to the victim in case of private
nuisance ? _

(A) Action for damages, injunction,
specific restitution of property
Injunction, specific restitution
of property, abatement
Action for damages, injunction,
abatement

(B)

©)

(D) Action for damages, speciﬁc

‘restitution of
abatement |
In-which case, the Supreme gave the

ruling that sovereign immunity of

property

41.

the state is subject to the
fundamental rights ? * _
(A) State of Rajasthan Vs.
- Vidhyawati
(B) Shyam Sunder Vs. State of
Rajasthan

(C) Kasturilal Ralia_Ram Jain Vs.
State of U.P.

(D) Peoples Union for Democratic

Rights Vs. State of Bihar
In torts :
(A) Damnum sine injuria
actionable only in case there is
actual damage

(B) Injuria sine demno is
actionable even if there is no
damages

(C) Injuria sine demno is
actionable only in case there are
actual damages '

(D) Damnum sine injuria is
actionable even if there is no
damages

Law-11

is
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eill @01R sl Brumi el
53 uste
© sl a1 st [.?12-2{[‘{[ ]
wIu gsdlr 8y i dl % el
s usu B
qsale qaR el W2 el 530
Astd B, sl L 2y el dd
e9dl UL

(B)

D)

[P.1.0.]



44..

45.

Which of the following correctlj

- identifies the specific defences

‘available in an -action for

defamation ?

‘(A) Privilege, truth, fair comment

(B) Privilege, mistake, fair

comment
(C) Truth, mistake, fair comment

(D) Truth, priviledge, mistake

~Assertion (A): Government cannot

~ be held liable for the'tort committed

by its servants.

Reason (R) : A master is liable for
the torts committed by his servant

in the course of his employment.

-(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct
(D) Both (A) and (R) are true and
(R) is the correct explanation

 of (A)

Law-II

45.
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44.

olea(lrl sl suL ALSSA oAl
Hi 9 d A U8 sy wy euld

A Rawulasiz, ad, s
vyl '

B) [adsulasiz, od, wuls
el |

(©) dct, od, Weuls Avuel

D) Ay, QanifasR, o4
ey 584 (A) : s3] Aisd 53¢

UG HIZ ARSI weelR A,

5138 (R) & s3] e s 53¢

AUEA M2 HAS LR 8.
A) (A) Wy & uig R) wig B

B) (A) ¥i¢ 8 uIg B Wi B

(0) o) (A) WA (B) W3 B Wig (R)

2 (A) Al 2wl yHydl el

D) o (A) 21 (R) WAL D A (R)

A (A) A wdll wiogdl B



46. Assertion (A) : A person can claim

46, [usay 524 (A) : Ald e o gsaedl

damages if he has. sustained any -

loss monetary or otherwise.
Reason (R) : Where there is
infringement of a legal right, law
allows compensation.

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true

'(C) Both (A) and (R) are true but
(R) not the
explanation of (A)

(_D) rBoth (A) and (R) are true and

is "~ ecorrect

(R) is the correct explanation

of (A)

47. Aséer_t_ion (A) : In an action for

malicious prosecution it must be
proved that the defendant had
initiated criminal proceedings
maliciously and without reasonable
and probable cause.

Reason (R) : Action for malicious
prosecution is initiated in criminal
court.

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are true but

(R) the
explanation of (A)

(D) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

is mnot correct

Law-II
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47.

Qo W2 eldl 53 ¥ ww? A
Aaidla vaa o0F A qsu-t 8y
Siy.

SRR (R) : U sBUU essid

vig Uy €lu dl, SIS AfdR MY
A 8.

A) (A) W B u4id B ¥ig B
B) (A) Wi B uig ® WL W

(©) oL (A) WA (B) WAL B, uig
® A (@A) A wAl waell el

D) o (A) 27 (R) Wl 8, Wig
(® A @A) D wdl wndl 8

Buan sa- (A) : g2 3l sidl
salel 3 YU 539 ud 3
wRagln sidua carogoell i AL
g9 avr g gl slrerdl sRute
531 ® (criminal).

s@ (R) : g2 ogdll slRaue- gial
slgeldl Sidul s asu.

(A) (A) WY B uid ®) Y 8

B) (A) ¥¢ & uig R) WY B

(© A=l (A) ¥ (B) W B, Wi
®) A (@A) 0wl 2wl el

D) s~ @ 27 (R) AL & 2 (R)
A A A wll wngd 8

P. fO.]



48. Under section 140 of the MOtOI‘ 48. 4 #Laz Cé].&ﬁl aga’ A ,u s4H

Vehicle Act, 1988, no fault liability

has been recognised :

(A) When death has resulted from
an accident arising out of the .

use of a motor vehicle

(B) When total disablement has
‘resulted from an accident
arising out of the use of a motor

vehicle

(C) When permanent disablement
has resulted from an accident
arising out of the use of a motor

vehicle

(D) When death or permanent
disablement has resulted from -
an accident arising out of the

use of a motor vehicle

49. The liability to pay interest in 49,

respect of any award under the
Motor Vehicles Act is :

(A) Contractual liability
| (B) Statutory liability
(C) Personal liability -
(D) Tortious liability |
Law-11 28

140 Yo, € ol yameRl

(A)

A58 &

oy 3 W2y cdlsa-dl GuylLoL

O sal] sisucell gy uy iy

®)

(C)

D)

oY Hiex odlsadl Guuioef]
s dendl Ayl 2oL U
SlY,

a3 Mz edlsadl Guaiol
sl Al sl »rdoiar 9
Sly

FULY H2R adlsadl Guaiaefl
W5 Al Yy uY iy wq

sl vdadL 9 sy

We cdlsa Ase Hao, yuld Al
(award) WML cqly  Ysaaid]

gL ... ... 6.

(A)
(B)
©)
D)

-

5AUAPY, WAL
suelsly wqoel?l
LRI AR

AEAAY YAoelR]



50. Which one of the following

statements is incorrect ?

(A)

(B)

©

D)

Law-II

The service rendered by the
Government servant under the
Central Government Health

Scheme is a service

A member of Employees
Provident Fund Sche_me is a
consumer and dﬁties performed
by Regional Provident Fund

Commissioner under such

scheme 1is service

Grant of overdraft fac.ility by a

bank to its customer for

consideration amounts to

service

The relationship of a teacher
and student of an educational

institution is not a service on

hire

29

50. A U4 sy Qe wig © 7

(A)

(B)

Yeg w5l Seu Rsm vidold
A s3] sl a»uﬁc{l &qi %),

Adl 8

AAlSy WRLS §S WAL Uy

R aes © wA Jodida MRSS

©)

D

S5l sHlarY oMAY $% W Bl
26lM il A4l &
615 gIRL el AL Si widr giserl

AONAS AL GLEAIHL AN

U ol A Adl ALy

dafs el Qs A Rendl

Q2+l doig A euddl dlda A

.-1%[1

[P.T.O.]



51. Which one of the following is/are

true about Bill of Exchange ?

Choose the correct answer using

codes given below :

@

A Bill of Exchange requires in

its inception two parties

() A Bill of Exchange or draft is

a written order by the drawer

to the drawee to pay money to

‘th'e payee

(i) A Bill of Exchange is used

(iv)

primarily in the international
trade and are written orders by
one person.to his Bank to pay
the bearer a specific sum on a

specific date

Definition of Bill of Exchange
is mentioned in section 6 of the

Negotiable Instruments Act

" Codes :I

(A)

(B)

©

(D)

Law-II

() and Gv)
(), (#) and (iv)
(ii) and (éif)

({ii) and (iv)

30

51. (a[Mmy ust (Bill of Exchange) tileld
021 W4 5y sy B ? A wida
sloell Guion 30 Wl was, el ¢

@)

(&)

(i)

(iv)

QA Wl azaial & was: -
ala 331 8.

[AlAHY o 2 §sl qui-i gl
&8l AsIUA gl i
Aadal gssel AUldA - e
ysadl-l Avlld 20k .

AMLAHL [AMHA watel Guyial
vl vgly AUHD sq1ui
2ladl 2 A Ag AR gLzt axll
o5 [AMMA Wt 4:i9-1R
A3 ALssA EH ALSSH LW
ysaal Avlld 2k edl.

ARy wsdl  eyey g
Aofigllaloe S dre visel
5a4—5 Ml syl sudl 9.

sis :

(A)
(B)
(©)

(D)

(@) ¥R (iv)

@), Gi) 2R (iv)
(.ii)r 24, (i)
(iii) 7 (iv)



52. In which of the following case

53.

property in the goods does not pass
to the buyer when the goods are
delivered to the buyer on approval
or on sale or return or other similar

terms 7

(A) When the buyer signifies his
approval or acceptance to the
seller as to the goods

(B) When the buyer retains the
goods without giving a notice
~ of rejection and upon expiry of

reasonable time

(C) When buyer does any other act

adopting the transaction

rejection to the seller

- D When buyer gives notice of

When does the property in the goods

pass to the buyer in case of contract
for sale of specific or ascertained
goods, ? ' '

(A) ‘When the contract for sale 1is
made

(B) When the price is paid for the

goods

(C) When the parties -to the
contract 1ntend it to be
transferred

(D) When the delivery of the goods
have been made '

Law-II
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52,

53.

QA AL suL Ful warl g
wledlza wodl Al, FUR =
wWRlela Hisdlril QiR suudri
AL GlU UAlL QAR HAUAL YR
wgal wudl A5 wadil Al
el sid ! |

(A) s e Wictdl el
eafd wauar wa-dl disld
a2 suld

wad wdllgd sal 20 -l
wil a0 A sl AN
a2 e ugsl ua A ulelr
wad Wil WA AN

(B)

gupd Il g 3[*5*4@[ 53
3 3fl apqelz dlsir sdl © A
calag el

g wileelz dasiA Aidluell
gand AA waR sl
e dauel s A wa [RBad.
»aql ad g dl Aasdl azsdll
wadl RS sss WU SAUL
Wi 8 ?

_(A)

()

D)

a1l M ™ALl $UR Al
il

®) wwd wad Bud ysas o

(©) U 5L WASIRL 4z -l

welldl sss @A sl s el
ogn? well wliusll (delivery) 46
Qg |

)

[P.T.0.]



54. Choose the correct option option

55.

from the codes given below :

A valid E-contract can be entered

“into between parties under the
Indian Contract Act. Which one of

the following gives legal recognition

- to such contract ? -

Section 10-A of the Information
Technology Act

(&) Section 65-B of the Indian
Evidence Act '

@)

(iti). Section 1(4) of the Information

Tec_hnology Act

~ () Section 63 of the Indian

Evidence Act
Codes :
(A) () and (iv) are correct

(B) (i) and (ii) are correct

(C) () and @) are correct

(D) (i) and (iv) are correct

The DIN (Directors Identification
Number) to the existing Directors
of the compa-ny' or the individuals
who intended to become a Director
will be allotted by :

(A) Company Law Board
(B) Central Government

(C) National Company Law

Tribunal
(D) Registrar

’ IJaw—;II

54.

55.

32

sisHl Guuial 531 wal [Asey
sliel : '

yasial 922 gddql E-5312 eudly

COSRA UL S8 My B, (A A4

AUL 2L $U AU A W=
¢ ?

() 544 10-A Ss¥un 2sniddio Rse

(@) $4M 65-B cudly 32_@1‘1 STk
(i) 56M 1(4) S+siln 2s-idiow NAse
() s 63 cudly yladl @R
4iS

(A) G) ¥ Gv) WAL 8

(B) @) 1 G WY

(©) () YA (i) WAL B
(D) (i) A (fv) ALY

glérl Syl AAlast (Directors) A
AL ¥ A[BA S AALEASL St MLl
¢ld A DIN (duas aiow, s4is)
st sl oy ?

A) syl dl old
(B) 3 AISIR

© Wl sudl dl e
(Tribunal)

(D) @R



56. The Constitution of Corporate Social

57.

Responsibility Committee 1is
mandatory under the Companies
Act, 2013. Which one of the following

is not the functions of the Corporate-

Social Responsibility Committee ?
(A) Recommend for relaxation to
the Government such
companies who are not
fulfilling the responsibility
Recommend the amount of
expenditure to be incurred on
the activities referred
Formulate and recommend to
the Board, a CSR policy which
" ghall indicate the activities to
be undertaken by the company
Initiate a  transparent
monitoring mechanism for
implementation of CSR projects
or programmes or activities
undertaken by the Company

(B)

()

D)

‘Which one of the following is

wrong ? .

(A) Class action suit provides an
alternative remedy to member
or depositors to a company
Class action refers to a law suit
where one or several persons
join together and sue on behalf
of a large group of persons

(B)

(©)
is available to banking
company as well _
Class action is suitable when
the issue in question are
common to all affected and the
number of persons affected
is very large making it
impracticable for all of them to
join hands '

D)

Law-II

57

Remedy in a class action suit

33

56.

(B)

C)

¢l §udl aul 2013 oo Su-l wul¥s
ganoietdl, AMMRT 2184 $Ud 8.
A4 A4 5y, Su-l s rausell
Al sl Al 70

@A) Adl dudll 3 ¥ su-lll ueulys
agaioiet Il Ao ool asdl
o 14, QAL M2 ARSI 192912
uual s sdl

Surll aiRlL dsu aRudd uqRll -
e wadl s sdl

CSR Il 58l sl 2 6&5&
el sl FHl su-dl 59
w5l ASH

CSR dlz-uall wudr sifsil
sadl surll gt sl [@Qa
wqRizli-dl wHa W2 wreds
Ruuidi vl L sl

A V4 sy As Wig S ?

(A) WH[Es Wit Bl 2 {Nr[lru
Ayl A Auseli dsleus
Guin N 9

AWHRS uAdl A sRA Bl

B Fui As vaa ay ABdl

RS B A Hi2L guel Al
qdl etal 53 AF B

AR vl el Aol syl
yoL Qo] uS 9

AR5 waal-dl sidl Qo 8
oLy AL Sl UGBl A

¢l (issue in questions) AHiL
Sl A wA sl ABdixl
Ae Rwa ¢ld 2 833 Al3d
cg.[}ctom Jd RSy A AMa
Sy

(C)

(D)

(B)

(D)

[P.T.0.]



8.

59.

The defence of “non est factum” is

available to the contracting party

who has committed mistake as to

the : ' |

(A) Nature of contract

(B) Identity of the other contracting
party , o

(C) Quality of the promise made by

“the other contracting party
(D) Quality of the subject matter of

the contract

In which of the following,cases, a

partnership does not exist ?

({) Servants or agents receiving
proﬁts. o

(@) Seller of goodwill receiving
profits.

(iii) Lender of money fece_ivi'ng
profits.

(tv) Widow or_'child of a deceased
partner receiving profits.

Codes :

(&) @), Gii) and Gv)

(B) (i) and (iv) only
(C) (&), (iii) and (Gv)
(D) All of the above

Law-II
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58.

SRUIMU YasAA A oa s Sy

(mistake) cl A4 W2 “rle

........

A Fseu’’ Al oand Holl ul,

(A) SUIAL USIR

59..

(B) $40 ol uasi-l viiaw

(©) s 6l vas? Ay 9l

detant

D) s [anu—axgHl Jaanl

A WA s B, euslerly

ARaq gig el ? |

G) s 2aalL wusdl (Ax-e) &
A5l ANqdl iy,

@) wAwPa gui (sdla) -
QS Aadd s,

C ) UL AUAUR AR A9dd sl

(i) a;té: cuoller-l [Qaal ziaal d-u
W0 ANdy -sl.

slis : o

(A) @), i) 2 Gv)

(B) $5d (i) @\ (iv)

(©) i), (i) A (iv)

D) GUAL



60.

61.

Section 168 of the Indian Contract
Act, 1872 allows the finder of

goods :

(A) To retain the goods against the

owner until he receives

compensation for trouble and
expense.
(B) To sell the goods in certain
circumstances so as to protect

the goods

(&)

for safe custody of the goods
(D) Both (A) and (B)

A pﬁrty to the petition for divorce

by mutual consent . :

(A) Can withdraw the consent with

To claim reward from the owner .

60.

61.

the consent of the other party |

(B) Can withdraw the consent with
the leave of the court

(C) Can withdraw the consent

unilaterally

(D) Cannot withdraw the consent

Law-II

@)

ondld 53U UL, 1COR $AH-15¢

B Hlerdl WA ...... Lyl »ud
&,
oyl Yl A s3a vl AR Hdl

W2 qad L Ha i 3l R
sl [Azg wa Ll ud

(B) idR ollddl W2 32als ARRUH

d e afl w3

(C) WA M ML oed Hdls

dxsell aad-l Hiowel 530 ud
D) 4\ (A) 2R (B)
w2 Aulel Qét@St mwrﬁ |
uasIR |
@ ofton wasiR-l WuReld 2da

SR owdl A W

B siél vl 2la Aula

Yyt 48 ud

(©) vidil A dul wd c16 ul

(D) »dd AR 4d as a3 «dl

85

[P.T.O.]



62. Match List I with List II and select

63.

the correct answer using the codes
given below :

(@)
()

{c)

d)

@

~ List 1
Khusboo Ys. Kanniammal

Gita Hariharan Vs. Reserve

"Bank of India

Gurupad Vs. Hirabai

Harvinder Kaur Vs.

Harmander Singh
- List II
Notional partition

(ii) Restitution of Conjugal right

(iit) Guardianship

(iv) Live-in relationship

~ Codes : |
@ ® © @
@A) G @ @ G
C® @ G 6O G
© G) G G @
D @ @ O @)

A marriage is voidable under section
12 of the Hindu Marriage Act, 1955
on the ground of :

(A)
(B)
©

Mental incapacity

Physical incapacity

Both mental and physical
incapacity

Only mental incapacity and not
physical incapacity

D)

Law-II

36

62.

63.

dlze T A dlze II WA As viA A
U 5157 GuUidL 531 WAL gL
Ll

(a)

- (d)

(c)
(d)

@

(i)

dle 1
v (. sfrune

Bl eRe &, And ds i
SlesuL

A3us [a. [Rrieus

sdex SR [A. ewez [Ria
die 11

siewlFis (Higa) oudal

4o 855l YriRALUA

@) was n@sR (Guardiénship)
@) dla—d-lau-ally

sis ; )

@ B © @
A Gv) @ 6 @)
B) Gv) G G @
© G G G @
O G G 6 G

DA AR s AR003 0 Reg Ao
W2, UUY, SaH—1R HWR ddrt e
ol Yo, & ?

(A) HIAAS A8HdL

(®B) WIS vaHAL

(©) o WA A WA S 28N

D) 55 WS UL wq WAR S
BEAHAL ]



64.

65.

66.

The only major area where (tvrvo
schools of Hindu Law still have

significance :

(A) Marriage

(B) Adoption

(C) Joint family

(D) Gaurdianship

Period of non-resumption of
cohabitation for the purpose of
Section 13(2)(iii) of the Hindu
Marriage Act, 1955 should be

minimum :

- (A) Three months

(B) Six months

(C) One year

(D) Two years

The effect of the marriage of a

Hindu under the Special Marriage
Act, 1954 :

(A) he becomes a divided me;triber
with right to survivorship

(B) he becomes a divided member

without right to survivorship

(C) he continues as a member in
the joint family and his share
in the party is not affected .

(D) both (B) and (C)

Law-II

37

64.

65.

66.

&5d 11,\»3-1 Bruxini [Regaiidl o~

WU, S YA Hecd 8Rd &

. (A) @i

B sus AR R
(C) 2[Acisd 530
M) Aswsruz (Guslunliv) |

9 (B Ay e, wevy -l san
13(2)(iii) 4ol sl s
UHY 2 u—uedl WA el 4 el
A, |

A) A8 Hlart

(B) & uld-
(C) ¥s ad
D) a ad

ol AAlud Ao A2, LY Yo
(Srgril @ MU

-

A) d eRllelr uey o 69,

GrroRdA RS W
B) 4 olely UKL o B,
- GrawlQdidl wAsR QAR

(©) A »Aeisd gdoll ued A W
& w7 Al Rasdrl AR 2R
ol el

D) = (B) A (C)

| [P.T.O] -



67.

69.

(C) Neither

Sapinda relé.tionship arises

- according to Dayabhaga school of

Hindu law by :

(A) Propinqui{:y

(B) Pinda offering

“(C) Consanguinity

(D) Both (A) and (B)

. Section 16 of the Hindu Adoptlon

and Maintenance Act, 1956 relates
to : |

(A) arebuttable presumption of law

(B) an irrebuttable presumption of

law
(C) a presumption of fact
(D) either (A) or (C)

Registration of document relating to

adqption is :
(A) Compulsory
(B) Optional

compulsory nor

optional |

(D) either (A) or (B)

Law-II

38

67.

68.

69.

R dl -l swern A ywo wlis
Aolal ....... PO TU] @

(A) euélvu [?tga-u dole o)

(B) Qis suyael
(C) WalAdL ot

(D) 6= (A) 4 (B)

4 [Rrg ASAt A Aeeery WA,
aeus ol san—a5 (A U4 dein

q1d ¢ ¢
(A) s1ueL [N ArioR arel

B) stuel AN+ ol s ddl
QL |

(C) wl3sd QM @

(D) Sidl (A) a4l ()

tsl @ldl eyl «iaell :
(A) $3IWUId
(B) HAUld

(C) $3Ud w2l 3 yIuld wal
]

D) sidl (A) ad (B)



70.

70. The claim of the maintenance of
daughter under section 21 of the
Hindu Adoption and Maintenance
Act, 1956 is llmlted to their :
(A) Minority

~ (B) Majority upto 21 years
- (C) upto 15 years
(D) Maidenhood
71.. Match the List T with List II and
choose the correct answer using the
~ codes given below :
List I .
(@) Trial Smelter Arbitration case
(b) CITES
(¢) KYOTO Protocol
(d) Basel Convention
| List II |
({) Transboundary movements of .
Hazardous waste and their
disposal.
(i) Dispute between United States
~and Canada over air pollution.
(iii) Protection of endangered plants
and animals by regulating the
trade of endangered species or
products derived from them
(iv) Global climate change
Codes :
Q) (@)—(iid), (5)—@), (C)——(w)r
(d)—Gi)
(B) (a)—(iv), (b)—C(iii), (e)—{(ii),
(d)»—()
(O (a)—), (b)—(ii), (e)—L(iii),
(d)>—(iv)
(D) (@)D, (b)—(ut) (c)-—(w),
(d)—(z)

Law-II

39

71.

@

- ()

sa4—-34, €l [B-g dsirand -

A2 W52, wUs ol [R5l
CG{RBLMINGL Mievll sldl drl

ydi wullzd .
(A) UL

(B) Ysact—q ad yl

©) v ay yHl
D) W™
dlze 1A dle II WA sl 2 {3

WA SISl Guulat 531 WAL FAo

el

dle 1
2lue Wz suolzad 3w
CITES
suil Micisia
oud swdrau-

dle 11
A 543 AU d-l Rsia Hi+]
ideuMy anan |
Yeiles 22 il 3AsL 4l
std ugMRA ouotd [Qale
Gii) Al il vl dxidl endl
dageil AUIR YR Blal AwHl
A=l i welladia ead i
s
Yol YRl dldlaAML sedld
£ :
(A) (a)—(iD), (b)—(), (c)—C(iv),

A{d)>—GD) :
(B) (a)—(iv), (b)—(iii), (e)—(ii),
- (@)@
©) (a)—@), b)—id), (e)—(uii),
(d)—v)

(a)—(@i), (b)—(iii), (C)—(w),
(d)—(i) '

(@)
(&)
(©)

@

(@)

M)

[P.T.0.]



72.

73.

associated with “PARIVESH” ?

(A) Clearance from Coastal-

Regulation Authority

Environment Permit issued for
clearance of Hazardous Waste

(B)

(C) Online submlssmn and

tracking

Use of recycled plastics
manufacturing and usage

D)

Examine the folowing under the
Environment (Protection) Act, 1986,

- and answer using the codes given

below : 7

(;} Abetment of Environment is

made a punishable offence

under the Act

(D)
is not ousted under the Act

(i) Government depart which is
responsible for causing
pollution through hazardous
industrial activities are not
liable for penal action

People responsible for causing
pollution through hazardous
industrial activities are liable
for punishment

Codes :

(A) ) and (i) are correct

(i)

(B) (i) and (iv) are correct
(C) (i) and (zi) are correct

(D) (@) and (ii1) are correct

- Law-II

Jurisdiction of the Civil Court

"Which one of the following is

40

72.

73.

AA-unidl sy fufRaw”
(PARIVESH) w2 dsnudg & ?
(A) deadly (Coastal) 2oyda-
At 2ol |
B) AuHl sl Fsia w2l
yulaefly Hyll

(©) iras uerlan (129 534d))

RS

D) ralResl Geutedl il auRa
qde argaiid §31 auila 3:5[
wslU dx 59

A1 Rain vufa Qary) Ase,
s Al dddld duiRil A sis-l
UL 531 walel avil :

@ vualazaqd f’lalLSCll HZ Ay
sl 2 Asenl [Rancs ol 8.
Aseui Radl 8 (MNa $i8)
Al egHdn ousid WML il
21, | )
adilrz el ¥ Aul 2AleiBis.
UGRULL LU HEUBL HIS FAUMEIR
iy daiiql wA Rlaicts wiet
a4 skt Yl

% aulBq, Al lelBis wqkizil
GLAL REMSL HL2 SAUELR €l Al
A AU WAl 4 usi.
_.‘s\lS : |
(A) @) A @) WA B

(B) (i) v (iv) AU

(C) Gii) A (i) WAL &

D) @) 2R ({id) WAL 8

(@)

(ii)

(iv)



74. Wh_ich one of the following is ‘not
_the functiops of _Cent;‘al Pollution
Control Board ? '

(A)

(B)

©)

executed

To .advise the Central

Government on any matter

concerning prevention and

control of Water and Air

pollution and improvement of
the quality of Air

To plan and cause to be
a nationwide

programme for prevention,

~control or abatement'of Water
‘and Air pollution

To provide technical assistance

and guidance to the_ State

Boards, carry out and sponsor

investigation and research

‘relating to problem of Water

and Air pollution and for their

prevention, control = and

~ abetment

D)

Law-II

To advise the state government
on matter relating to pollution
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74, QA-unidl 5y 3l A SR
oligy sid el ?

(A)

(B)

el A sall ugNRAA Asan

duy R s34l aal sl

spelanl yarrdidl ousdini 3w

ARSI Wals 2udl

well A airi ugHAd Asat
AuY AR s slod UYL

sl sl i WL o-lad]

i U QA

©

D)

Rz 1N aslgl Mee sl 2

CwfeddH 2iug, well wA s

ugme @didl Al duRL
dsll dn Risal, REsE 2 il
Mg M2 ¥ Hee 53 diu A

Aoid M s2d, saq

g @dtdl enoidl 0L AN

ASIA ndle duudl

- [P.T.0.]



75. Match the following from List Iwith ~ 75. e T %A\ 22 IT 0 RS »1A weail

List II and give the correct

answer : 7
_ List 1

(a) Montreal Protocol

(b) The Dcotrine of Public Trust
(c) Brundtland Report

"~ (d) Precautionary Pﬁndple
 List IT

(@ Vellore Citizen’s Forum Vs.
Union of India.

(@) World Coinmission on the

Environment and Development

(ikf) Duty of the State under Article
48-A '

(iv) Substances that deplete the

ozone layer

Select the correct answer using the

codeg given below :

A) (a)—Gv), (B)—(iii), (e)—(ii),

C @O N

B (@—6), B)—id), (€)—Gv),
(@)

©) (a)—id), B)—GD), (—),
(d)—Gv)

D) (a)—(Ei), (b)—@), (c)—(iv),
(d)—iD)

Law-II

ROl AW :
| dlre 1

@ W-dxna W

®) a4 Sisa1d+ is voells 22
© @-2d-s Jué

| @ waddl4t Rgid (w1113

W-=llue)
dike 11
@ el Mn-u sin A, YR
g Slsul.

@) walazw A Qs _etdlg, CEX]
gy,

i) s 48-A 3w WUl
gUsell.

Go) 2l uetal } i durd
Al 53 9. o

A e sis-l Gualdl s30 wal

Falot Al |

(A) (@)—(iv), B)—Gid), (e)—Gi),
(d)—G) |

(B) (a)—(i), (b)—iii), (e)—(iv),

- ()

Q) (a)—(Gzd), (b)—C(iD), (e)—(D),

(d)—iv)

D) (@)—Gi), (B)—G), (e)—(iv),

(d)—(ii)



Section 20 of the National Green

78.

76.
Tribunal Act does not mention the
principle of :
(A) Polluter pays principle
(B) Absolute liability
(C) Substantial development
(D)_ Precautionary principle
77. Kaka Kalelkar Commission is
‘ related to :
.(A) National. Commission for
Scheduled caste
(B) National Commission for
Scheduled Tribe
(C) National Commlssmn for
Backward class
(D) 'National Commission for Anglo-
Indian Community
78. Which constitutional amendment
‘ has recommended the establishment
of a commission for scheduled caste
and scheduled tribe ? -
(A) 41st Constitutional AmendQ :
ment '
(B) 65th Cons-titutional ‘Amend—
ment o
- (C) 82nd Constitutional
Amendment _
(D) 76th Constitutional Amend-
ment
- Law-II

- 43

76..

77.

Audd Al Aoyna Ase, L san

20 sui [Rugian sulag -l -

(A) ugMs dd- [gid

(B) Ayl wasetl-dl Rsid
©) lawrt Rs

(D) AL Rigid

5151 3!.&&5?. 3y
(A) gy Ala ed Alu ¥
(B) a»_tge@d o1l %uéj - CRTE]
(€) usidel W sl iy

D) l2al mzcﬂq AU U2

z'nglq el

A -Usl suL o{qneﬂil AL
mga;[ia fla ugzﬁct %

12 U UL My YAL—cLAHR

saml vudl ?

(A) ¥4 ¥l seanrelly ﬁauél
(B) sy i ojarrefiy YRl
(©) ¢ L slaella YalRl
(D) 95 i olazelly Yaizl

[P.T.O.]



79. Choose the correct answer using the

codes given below :

(@ Universalism refers to the
notion that human rights are
universal and should apply to

every human being

(6) Universalism refers to the
notion that human rights are
_thoﬁgh universal, should be
applied only to human beings

who are culturally dependant

(¢) Cultural relafiv_ist argue that
the human rights are culturally
depehdaht and that no moral
princi;‘;lesr can be made to apply

| to.all cultures

Codes :

(A) {a) and () are correct
(B) .(bj alone is correct
(C) (e) and (c) are correct
(D) (bj and (c) aré correct

Law-II

79. A dulen sis-l Guuiol s3I wal

ooy vl :

(a)

()]

©

dBasdr Ad swld & 3 wra

_z»t[iistz A ABas ouoid © WA

A B35 HWRAN AdA AL, ud B,

dBasdl Ag suld & 3 W4
RS2 Q_ma ABas suoid €l
A 5d wglas Aa 2ubBid

wadld @) us 8.

Alglas WAL 2l e1al 53
8 & Hira AU[As1R 2 Aiglas Aa
B 8, 24 £35 AlaA
Aldsiit Rugidl @) 31 wsiy
4l

$S :

(A)
(B)
(&)

(D)

(@) ¥ () A &
s5d () W B
(@) 21 (¢) WA &

(b) A () WAL &



80.

81.

®

©)

(D

Which one of the following is

correct ?

The Universal Declaration _ of

- Human Rights, 1948 -

(A) is a treaty universally binding

on all Nations

is a common standard of
achievement for all people and

all Nations

(C) provides machinery
implementing the protection of

Human Rights globally

(D) is a common standard of
achievement for those Nations
only who voted for the
.Declaraﬁion in the General

~ Assembly of the United Nations

for-

Cyber squating is related to which

one of the following ?
(A) Unauthorised use of Patent

(B) Unauthoﬁséd use of Copyright

Design

Unauthorised use of Trade

mark

Law-II

Unauthorised use of Industrial
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80.

81.

Al sy Wy 7

fl yMada Bsdad s gu-
AU, 1LY -

@) A AR D A £ WA Wi

B ddy us 8

A AMIY IRl W ) ¥
oLy @Sl A oy AN
Aaag ASA.

(B).

(C) A Aadls Q8 Hind MRS

288 A 2Hdlsan Aan Ul

-

8
B WML BRIl BB B, Sl
Sal AL FHA YrSes Al
i@ SRl HNRL HI2 Hd

(D)

2L 6

AsR AR 1A A4 siA @y us
Q ? , -

A) Vo2l [Birt—2ifgd Guuion

B) sifl et
GuylaA

(Br—unfagd

(©) Pl RS-l [Biri—aagd
GuaiolR |
D) ]l R-si-u Bt - gd
GuyiaL |
[P.T.0.]



82.

- 83.

Which one of the following principle
applicable to Trade Mark ?

- (A) A trade_ should be distinctive

(B) A trade mark should not cause
confusion with previous trade

mark

(C) A trade mark should be
capable of distinguishing goods

or services

(D) A trade mark should not be

decepfive

Which one of the following g3

statements is true ?

(A) Trade mark registration can be
renewed for an unlimited

number of ten years period

(B)
~protect the owner’s original

work

(©) To qualify for
protection, a mark must be
‘distinctive and have a

secondary meaning

D)

Surname alone can be trade

mark

Law-I1I

Trade mark law is intended to -

federal
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82. '-[l_vl-u A4 sl Rugid awz Bsed

ary ud @ ?
A) awwz Bne RRR Sid A
B) AWR RArg 3 22u6- Awr

Rns d ojyast (s-syx-) s3d
- gl AN
(C) 2w B 3 Wa A Al

QA astad suldl a3 Ag uan
eid Asu

D) AR A DMy (@s)

ad ASA

oA A4 sy Qs Wy B 7

A) 2R By -iaely d-dsw
(R=ys) A 10 avd-n onen w2
wuulled 531 wasa &

(B) 25 HIEA @ddl siel wlas-
Yo [ Aifas sidd ae 2uvaL
W2 AUl

©) wxall (3s:a) wa w2,
R s [AlAre gid ASA A
a-il olle ue glal AR

D) $5d 2% YA WU @ &
T



84. A company decides to use logo that 84, $u+l dloll il GualdL s Wi 8,

has the same shape as its competitor & do yRRudl-u FaL ¥ s D

but Withra different colour. Whlch

-

| Yig Aril 3ol dslad 8. dl doll
of the following the logo refers L '
| | 1 g sdau ?
to ?

@A) sidl use
(A) Copyright

o B) elRis QxS
~(B) Industrial Design & ki
(C) Trade Mark - C(0) AR ﬁve"

(D) Patent - (D) &2

85. Intellectual property rights protect  85. G5 sl ARSI A HRA 217

' the use of informatioh_ and ideas [Q%lﬁ"ll Guuial i3 W -Q’ll'q 2]
 thatareof: B oeereenen Sid.
(A) Ethical value | C(A) Alas yeu (Qé[l_f,a Aey)

(B) Commercial value B) cuul Yy

(C) Community value (©) AYelU

| ‘(D_) Moral value ®) ARRvas yeu (ke dey)

Law—II . - 47 - [P.T.0]



86. Under

section 10A of the

Information Technology Act 2000,

the contracts formed through

electronic means :

(A)

(B)

©

D)

Law—II

Shall be deemed to be
unenforceable solely on the
ground that si1_ch electronic
form or means was used for
that purpdse

Shall not be deemed to be
unenforceable solely on the
ground that such electronic
form or méans was 'used_ for
that purpose

Shall- be deemed to be
enquceable solely on the
ground. that such electronic
form 6r means was used for

that purpose

Shall not be deemed to be.

enforceable solely on the

ground that such electronic
form or means_was used for

that purpose

48

86. €l Seglun 2svidiw Ase, W00,

sa3 10 N Yoo, Qoagell saumi

e 5L Y ¢

(A)

(B)

. (C)

(D)

Aq wud 3 wal sUR
ofli—well B, $5d el SRAU
3 vial oy Guswl x4l

Akl Bl 8¢ W2 AURAAUL el

Ad Wi ¢l W 3 AR
ofli—otiel B, 5 Al SIRAU
5 vian dlagy Gusel vuat

AEAL AL Sg W2 GUUAUL Sl
g Wil 2Udd 3 532 el -
8 §5d Al SWAR F Al
(003 Gus2l vigaL waHd s
S M2 quUY edt

A M 2099 Al ¥ s
Ul B, S5d Adl SWAL F
vl Qg GusAL viadL wEsl

Al &g M2 AWRUU sdl



87.

88.

(B)

©

Which one of the following
conventions is not relating to

copyright protection ?

(A) The convention for the

protection of producers of
phonograms against
~‘unauthorised duplication of

their phonograms

The convention relating to the

distribution of programme-

carrying signals transmitted by

satellite

-Li.s_bon‘ Agreement for the

Protection of Appellations of

Origin and their International
~ Registration |

(D) The treaty on intellectual
. ,'property in

Integrated Circuits

respect of

Which of the following provisions of

* the TRIPS agreement deals with the

~ Geographical Indications :

(A) Section 3, Articles 20 to 24

~ (B) Section 3, Articles 21 to 25

" (C) Section 3, Articles 22 to 24
(D) Section 4, Articles 22 to 24

Law-II

49

87. <0~ U4 sy i (sa-an) Al

e @@ aag dl ?

(A) Si-li—3ux isyui-l 89 e
ANar—F dali- siqiavadl

ofli~tfgd se sg slU

(B) stdsHirl [Rda w01 ARan —
§ ez g2l RoraA Misdd
Gu
(€) e 2AWlde — F Aal-
Wad W@ 53¢ <la w4
id Ay iRl s -l

ANl |
M) SRS usleun ‘C:L\"lcfl Allas

Auel A B

. TRIPS lalldirel 1dA-u U4 59

Aaald olloifs Addl (@z&w&fsa-

SSl3un) A @ w8 1
(A) san-3, AgWs 20 A
B) san-3, Agde 2 Al W
(C) sem—a, wuqWe R ¢l Y
D) sau-¥, vgde R 4l ¥

[P.T.0.]



89.

90.

91.

Bio-piracy usually takes place in the.

form of :
(A)
(B)

Granting of wrong patents '

..to
inventions derived from a

Granting of patents

community’s - traditional

knowledge
Lowering the patent standard
All of the above

©
D)
A digital signature is :

“(A) not a digitized image of a hand

written signature

(B). an actual transformation of an ‘
electronic message using public -

key cryptography

a block of data at the end of an
electronic message that attests
the authenticity of the said
message ‘

(D) all of the above

(&)

is :

(A) Art. 21 of the Consti_tﬁtion of

India

(B) Art. 19(1)a) of the Constitution

of India
(C) Right to Information Act, 2005

(D) Art. 14 of the Constitution of
. India

Law-II

The source of right to information-

50

89.

90.

91.

@) sl ava

ol -wiaal Wy Rl
WML Al 1A 8.

(A) il Yeead] slaaglsll

B) Adl W4 B eisiy/anandl
YWINRAG stAHil A4S siy AR
Yeredl sinasit

©) et €@ {13 $2

--------

(D) BUdL d¥A

RPrea eacia o\ : |
s l&l R+l
BrecuSus so1u «t2ll

B) ubas 4 Walal-Ad Guylal 530
Sasi-ls Avang w2 WRadd

() SAsgi-ls Aawewt vicni WRAA
sl F sl Wl xRgddl
euld 8

(D) GUsd G181

WRA »RsR 3a

(A) Rcly o) — 2iade—q

(B) oldly sjalRRl — e ¢
(Xa)

(C) uUde g S-sHart Ase, 004

@) cudly s — wgde-1y



92.

93.

(A)

Choosé the right code :

Assertion (A) : The object of the
Right to Information Act, 2005 is
to promote openness, transparency
and accountability in administration

Reason (R) : The Official Secret_

Act authorises the public

authorities to deny the information

relating to government documents.
Codes :
(A) is right but (R) is wrong

(B) Both (A) and (R) are right and

(R) 1s the correct reason of (A)

(C) Both (A) and (R) are right but

(R) 1s not the correct reason

of (A)
(D) Both (A) and (R) are right

Under the Lokpal and Lokayukta
Act, 2013 the jurisdiction of Lokpal

~ will not extend to :

(A) Prime Minister of India

(B) Council of Ministers of the

Central Government
(C) Members of Parliament
(D) President of India

Law-II.
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92.

93.

WAL SIS WAl :
sy 53 (A) @ A2 g §-9U
As2, W04 -l GRw [Ruaddl,

yedsdl A cqaal  datdl
FAUOELIA, Ml .ML‘{Cll'ﬁ 69,

8 (R) : 4l »iBAlua Alse 2se

yoells Aol Al A 20l B

3 AR ecndd wist-l wldl
¢iudlg, 53l ud. o |

5S :

(A) (A) WY B wig R) “ig B

B) 61 (A) 27 (R) 0L & 29 (R)
RN (A) 4 WY s B

(©) oL (A) A (R) WL B uig (R)
A (A) 4wy s -l

D) -\ (A) M R) WAL &

dlswd A disiysd Ase, 013
Yoro, disuiarll sgid A ALd)
ysdl nell. S

(A) HURdrll 4S8l &L

CB) ivs AW s16-la s

S| IEERY
©) wdlmi-el wedl
D) s+l AU

[P.T.0.]



94.

95.

“There has been no Government or

legal system in the world history -
which did not involve both rules and

discretion. It is impossible to find a

Government of laws alone and not

men in the sense of eliminating all

discretionary powers. All

Governments are of laws and of

men.” This observation was made by

the Supreme Court in :

(A) A.D.M. Jabalpur Vs. Shivkant

~ Shukla . '

(B) Smt. Indira Nehru Gandhi Vs.
Raj Narain

(C) AK. Kraipak Vs. Union of
India

(D) Minerva Mills Vs.
India

Select the correct answer usmg the

codes given below :

Assertion (A) : England has

unwritten constitution based on

Union of

sovereigny of Parliament whereas

America has written constitution
based on sovereignty of people.

Reason (R) : Separation of power
is a valid and fundamental dogma
of American Constitution whereas

it is not so in England.

Codes :

(A) Both (A) and (R) are true and_

(R) is the correct explanatlon
of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Law-II

52

94.

95.

Codd-l Slastaml Al A4S AR
5 suel dat el FHi Rasl uq
[Qaseyfe-dl wnida - la. Ag siiag
BLASY B FUL S5 slUslHl U1 Sy
i HrRRel Al AL 210l Fui ooy
{Qasopfert RSN g sl siy.
£35 AU stueil 2 el $ia

8.7 GUsd Madis YulH 51

aui 8.

--------

@ 2.8l 30, woay [@. Qgstd

ysal

B) il SFe As3 aidl [,
AP UL

(€) .5, 3us [A. yRu-t 2iis zSPrsqt-

D) Hida e [A. 4y s
Sl

A 2004l sisHl Guaial 53 WAl

B CICRNCIETR

ey s34 (A) ¢ Sodrss simnra
Ald Al i § wald-en adeiln
WA 8, 21 AAR 51 st Al
B % disia wdely WA 8.

S12R (R) : AUUA 25 WAR A Wi
8 At ARSI eluaxl Yoeyd

- Rgid 8, 2l 2ug Sod-sui Al
.3‘15 . : _

(A) (A) 211 (R) 61 AL B 1, (R)
A (A) Al wll wuoedl @

(B) A (A) 1 (R) AL & ulg (R)
A A -l wAl iyl el

©) (A) ud B, wig B) Wig 8

D) A) v 8, uig (R) W &



96. Select the correct answer using the

codes given below :

Assertion (A) : Ther states which
joined  the American Federation
continue to have their own
cbnstitution‘ whereas the state§
‘which joined the Indian Union do
not have separate constitution of

their own.

Reason (R) : American Constitu-
tion is rigid whereas the Indian
Constitution is flexible.

Codes :

. (A) Both (A) and (R) are true and 7

(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but

"(R) is not the correct
| 'explanaﬁion of (A)
‘(C)‘ (A) is true but (R) is false

D) (A) is false but (R) is true

Law-II

53

96. -1 wudal Sis+il Gudiol s WAl

ocleL @ull :

Fizay $44 (A) : dal Ad ¥

A5t AR RS B A¥A

Uiglld, 210l e Ay 8 B, Ul

Bl %A ¥ Hdld YUl Aseu

B A% Wdid el sme «dl.

5139 (R) : A5 olare ¥da 9,

oY oadla el wWRad«au

- (sdsAloa) B,

5iS .

(A) AL (A) 2R (R) WAL D A (B)

A @A) Wl wiyd 8

(B) o (A) 2 (R) AL 8, uig

®) A (A) 0 w0l agdl el
© (&) wy 8, Wg B) “§ B
D) (A) “ig 8, uig R) WY &

[P.T.O.]



97.

Select the correct answer using the
codes given below :

Assertion (A) : The Constitution
of India does not express the

existence of separation of powers,

and it is true that division of powers
of the Government is implicit in the
Constitution but the doctrine does
not form an essential basis
of foundation stone of the

constitutional framework as 1t does .

in USA.

Reason (R) : The object of
separation of powers is the
preservation of political safeguards
against the capricious exercise of
powers. '

"Codes :

. (A) Both (A) and (R) are true and

98.

(R) is the correct explanation
of (A)
(B) Both (A) and (R) are true but
(R) is not a correct explanation
of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Lokpal or Lokayukta is competent
to : 3
(A) Conduct inquiry against
administrative authority for
misuse of power
Investigate complaints
involving grievances in respect
of administrative action
Discharge the functions of
administrative authority
Give observations and
recommendations in respect of
administrative action to the
government. ‘

(B)

(&)
D)

Law-I1
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97.

A3 2lar sisdl Gudlal 531 wail
HA, AV :

Ry sad A) = oidly s,
A s wall 2Rl sufag

Codl, AWy 8 3 AR sl

98.

eLdl sl al{d 8, wig
sl cudteirl Rigic 3 elarny
MIULROLA ML 19 Al B
CRIEETETIN

S (R) : Auu-L 215 WA+l &g
Arlt a3l Guyia WA AwAlas
AR wAAdHl 8.

SiS |

(A) oY (A) 21 (R) WAL D 2\ (R)

2 o(A) -l wAdl wwedl 8

C(B) o (A) @A (R) WA B, uig

(R) ¥ (A) -1l wll wogdl e
©) A) Wy B, uig R) Wig 8
@) @) ¥ B, uig ® wy B
disuid Hadl disiysd
A& 9,

--------

(A) afeadl waBul gl ALt
C§3UMIGL I dwld s

(B) alRadl waial »id 2udd sRug

coueld dWA sl
(C) aldadl wniR-A sl ooaq

(D) AR aladl ware i) Weig
[ARee 2 yant s

e




99.

Select the correct answer using the
codes given below :

Assertion (A) : Under, Art. 368,

the Parliament can amend aliy part

~of the Constitution of India.

Reason (R) : The Parliament is

* supreme legislative body elected by

100.

people of India.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

"~ of (A)
Both (A) and (R) are true but

(R) is not a correct explanation
of (A) |

(B)

©
D)

(A) is true but (R) is false
(A) is false but (R) is true

Which one of the following is not

the essential feature of a Federal

Constitution ?

is rigid
B) .Distribuﬁon of pbwer

(C) Supremacy of Constitut;iori

(D) Supremacy of the center

Law-I1

(A) A Written Constitution which

99.
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